[ 1] INPUT GROUP REFERENCE PLANE
[ 2] PTO GROUP MOUNTING FACE

[ 3 ] LEFT MOUNTING BRACKET FACE
[ 4] RIGHT MOUNTING BRACKET FACE

~ 39.6 == 42.9 —=—
— = 10.0
—= = 6.0
!
— 30.0
|

!

SECTION B-B

To)
™
. 8 ~
° o, F T 9.
Y~ Xxo w N <O
(] 4 ~ Tp] 4
< Om ™ D2m
s & v o 3
< 3 S
<
| \
|
& 4
| y_
|
FLYWHEEL OUTLINE
MUST CONFORM TO
SAE J620, No. 290
SAE #3 PER
SAE J617
~ 401.7
152.6

FOR EYEBOLT

TORQUE TO S574 OR

SERVICE MANUAL VALUES.

USE HARDENED FLAT STEEL WASHERS
R30N-61 MIN. UNDER SCREW HEADS

@13/32 DRILL THRU, 12 HOLES
USE GRADE 8.8 PROPERTY CLASS
CAPSCREWS PER ISO 898-1 AND

@11.0 DRILL THRU.

8 HOLES, EQUALLY SPACED.

USE GRADE 8.8 PROPERTY CLASS
CAPSCREWS PER ISO 898-1 AND
TORQUE TO S§574 OR

SERVICE MANUAL VALUES.

/—SECONDARY CLUTCH
PRESSURE PORT
M14X1.5 METRIC PORT
CONFORMS TO ISO 6149
TORQUE TO 20 + 2 N-m

&

—CENTER OF GRAVITY

_—LUBE PRESSURE PORT
M14X1.5 METRIC PORT
CONFORMS TO ISO 6149
TORQUE TO 20 £ 2 N-m

OUTPUT SHAFT ¢

ALTERNATE OIL GAUGE LOCATION

SUMP DRAIN PLUG

INPUT SPEED SENSOR PORT
5/8-18UNF-2B TH'D.
TARGET WHEEL 51 TEETH

M12X1.75 TAP, 20.0 DEEP
FOR USE IN LIFTING
TRANSMISSION ONLY..

ALTERNATE OIL PUMP/

OUTLET TO HEAT
EXCHANGER

3/8-18 NPTF THREAD
(DRYSEAL)
CONFORMS TO J476
TORQUE TO 37 + 4 N-m

CENTER OF GRAVITY

OIL PUMP OUTLET TO
HEAT EXCHANGER
3/8-18 NPTF THREAD
(DRYSEAL)
CONFORMS TO J476
TORQUE TO 37 + 4 N-m

53.3mm CLEARANCE/

REQUIRED TO REMOVE
SUCTION SCREEN.

IT MUST BE REMOVED
FOR CLEANING.

)
- - N .
== g/iﬁrs»' ¥
I = e 4.. .

MAIN PRESSURE PORT

AND OIL INLET FROM

HEAT EXCHANGER

M18x1.5 METRIC PORT
CONFORMS TO ISO 6149
CONNECT OIL PRESSURE
GAUGE LINE HERE.
TIGHTENING TORQUE 3443 N-m

(X )Qu

19.1 ——

BREATHER OR OIL FILLER

THE 90° LEVER ROTATION REQUIRED FOR
CONTROL MAY FALL ANYWHERE WITHIN THE
360° IN WHICH THE LEVER MAY BE CLAMPED.

CONTROL VALVE SELECTOR
LEVER RANGE 33N MAX.
REQUIRED TO MOVE

@6.35 DRILL THRU.

ENGAGES SECONDARY CLUTCH

@15/32 DRILL THRU, 12 HOLES
ON ©®530.2 B.C.

USE GRADE 8.8 PROPERTY CLASS
CAPSCREWS PER ISO 898-1 AND
TORQUE TO S574 OR

SERVICE MANUAL VALUES.

USE HARDENED FLAT STEEL WASHERS
R30N-61 MIN. UNDER SCREW HEADS

37.1 —- -

©»19.5+0.1 THRU

6 HOLES, EQUALLY SPACED.

USE GRADE 12.8 PRPERTY CLASS
CAPSCREWS PER 1S0898-1 AND
TORQUE TO S574 OR SERVICE

S ©

- —

—— ©152.4B.C.

PRIMARY CLUTCH
PRESSURE PORT
M14X1.5 METRIC PORT
CONFORMS TO ISO 6149
TORQUE TO 20 + 2 N-m

LUBE PRESSURE PORT
M14X1.5 METRIC PORT
CONFORMS TO ISO 6149
TORQUE TO 20 + 2 N-m

OIL LEVEL GAUGE

RH ENGINE ROTATION
DRIVEN THROUGH

NEUTRAL DETENT

VIEW C-C

ENGAGES PRIMARY CLUTCH

NEUTRAL RANGE

OIL FILLER & BREATHER

PRIMARY CLUTCH

—~— 50.5

GL00%GL0 V8)
101d
:922'96@

Gz0'0

M16X2 TAP, 33.0 DEEP
8 HOLES AS SHOWN.

INPUT SHAFT ¢

]
|
|

ONE PAD ON EACH SIDE
M22 X 1.5 METRIC PORT MANUAL VALUES. USE ALL EIGHT (8) HOLES
-~ 1233 ————— CONFORMS TO ISO 6149 FOUR (4) PER SIDE FOR MOUNTING.
TORQUE TO 54 + 5 N-mm 254.0 254.0 | USE GRADE 8.8 PROPERTY CLASS
25.4mm CLEARANCE | QUALITY CAP SCREWS PER ISO 898-1 -~ 64.0 ———= 36.0
REQUIRED TO AND TORQUE TO S574 OR
REMOVE DRAINPLUG SERVICE MANUAL VALUES.
1]
- 321.4
A |ECNWF-24399 ] 07/03/2014
EQUIPMENT SHOWN: REV | CHANGENO. DATE
- MG-5075A PER PX10700 SERIES FIRST USE ASSEMBLY:PX10700 eer: 125,984 7R\ — ] MATERIAL: DATE:
NOTE: - SAE #3 FIRST USE MODEL: MG-5075A , . kCDJ |\, ;Egﬁgéﬁ%}f 393{ 5_9/ 2014
- SAE 290 CENTA CF-R-178-HR COUPLING SIMILAR TO: Rl o HEAT TREAT: 1:2 RACINE, WI 53403 - USA
A. ALL POINTS AVAILABLE FOR TESTING ARE CODED . - “S”EEEI‘?‘) IL(J:_IAFI)_UQI_OFI\II_TAFI{\I%LEVALVE M ET R C N TRCHNED DTN ONS PRA 2
B.  REFERENCE S9S0 TOR TWIN DISC REQUIREMENTS FOR R e e L T e N sefie— 1026876C
PRESSURE AND TEMPERATURE ALARM LEVELS. renonoTWINDISC, INCORPORATED = | ALGEOVETRIC TOLERANGING INSTALLATION APPROVED BY: |DWG SHEET: REV:
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MG-5075A ALC size: - AQ 1 0OF 1 A




	Sheet1
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Section View B-B
	Drawing View15
	Drawing View16


